Dividing by 6 (A)

Name:

Date:

48 = 6 =
6=6=
24+ 6=

54+-6= |

30+-6 =
60 -6 =

12-6=

18 -6 =
36 -6 =

42+6= |

48 + 6 =
60 + 6 =

24+-6= |

12+ 6=
54+ 6=
6+6=
36+ 6 =
42+6=
30+ 6=
18+ 6 =
24 +6=
18+ 6 =

6-6=

60 = 6 =
54+ 6=

Calculate each quotient.

42+6= | 12+6=
48+6= | 36+6=
30-6= | 54+6=
12-6= | 60+6=
36+ 6 = 18+ 6 =
24+6=  6+6=
60-6= | 42+6=
36+ 6= 48 + 6 =
30-6= | 30+6=
12-6= | 24+6=
6+6= 48+ 6 =
48+-6= | 60=+6=
42+6=  54+6=
18-6= | 18+6=
54+6= | 36+6=
6-6= | 30+6=
36+-6= | 12+6=
24+6= | 6=6=
48+6=  24+6=
60-6= | 42+6=
30-6= | 48+6=
54+6= | 6+6=
18+6= | 12+6=
12-6= | 36+6=
42+6= | 30+6=

Score:

54+ 6=

60 -6 =

42+ 6 =

18 -6 =

24+ 6=

54+-6=

60 -6 =

36 -6 =

48 = 6 =

24 -6 =

12+6 =

306 =

18 -6 =

42 +-6 =

6+-6=

60 -6 =

306 =

54+ 6=

42 + 6 =

36 -6 =

18 -6 =

24+ 6=

12 -6 =

48 ~ 6 =
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Dividing by 6 (A) Answers

Name:

48 -6 =
6+6=
24 -6 =
54 +6 =
30+6 =
60 -6 =
126 =
18 -6 =
36 -6 =
42 -6 =
48 -6 =
60 -6 =
24 -6 =
126 =
54 -6 =
6+6=
36 -6 =
42+ 6 =
306 =
18 +6=
24+ 6=
18 +6=
6+6=
60 -6 =
54 -6 =

Date:

Calculate each quotient.

42 -6 =
48 -6 =
30+6 =
12+-6=
36 -6 =
24 -6 =
60 -6 =
36 -6 =
30+6 =
12 -6 =
6=6=
48 -6 =
42 -6 =
18 -6 =
54 -6 =
6=6=
36 -6 =
24+ 6 =
48 -6 =
60 -6 =
30+-6 =
54 -6 =
18 -6 =
12+6 =
42 -6 =

12 -6 =
36 -6 =
54 +6 =
60 +-6 =
18 -6 =
6+6=
42 -6 =
48 -6 =
30+6 =
24 -6 =
48 - 6 =
60 -6 =
54 -6 =
18+-6=
36 -6 =
30+-6 =
12+-6=
6+6=
24 -6 =
42 -6 =
48 - 6 =
6+6=
12+-6=
36 -6 =
30+-6 =
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Score:

54+-6=

60 -6 =

10

42 -6 =

18 -6 =

24 -6 =

54+ 6=

O || Wl

60 -6 =

p—
)

36 -6 =

48 -6 =

24 -6 =

12+6 =

306 =

18 -6 =

42 + 6 =

6+-6=

g W= (N R]|Co||O

60 -6 =

—
()

306 =

54+-6=

42 -6 =

36 -6 =

18 -6 =

24+ 6=

12 -6 =

48 -6 =
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Dividing by 6 (B)

Name:

Date:

24+ 6 =
18+ 6 =
54+6=

48 ~-6= |

6=-6=
36 -6 =

60-6=

12+6 =
306 =

42+6= |

12+6 =

60+6=

18 -6 =
42 -6 =
36 -6 =
48 -6 =
30-6=
24 -6 =
54 -6 =
42 -6 =
18 -6 =

30-6=

12+ 6=
54+ 6=

Calculate each quotient.

24+6= | 60+6=
36+6= | 30+6=
60-6= | 48+6=
6-6= | 36+6=
48+ 6 = 6+6=
48+6= | 24+6=
60-6= | 12+6=
126 = 54 +6=
6+6= 42:6=
18-6= | 18+6=
30+ 6 = 48+ 6 =
42+6= | 36+6=
54+6= 12+6=
36+-6= | 42+6=
24+6= | 30=+6=
24+6= |  6=6=
36+-6= | 18+6=
30-6= | 54+6=
48+6=  24+6=
60-6= | 60=6=
54+6= | 60+6=
6-6= | 36+6=
42+6= | 24+6=
12+-6= | 18+6=
18+-6= | 12+6=

Score:

30+-6 =

54+-6=

48 + 6 =

42+ 6 =

6+6=

60 -6 =

18 -6 =

54+ 6=

36 -6 =

48 -6 =

24+ 6=

306 =

12 +-6 =

42 +-6 =

48 + 6 =

12 -6 =

42+ 6 =

6+-6=

36 -6 =

54+ 6=

24+ 6=

18 -6 =

60 -6 =

306 =
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Dividing by 6 (B) Answers

Name:

24 -6 =
18 -6 =
54 +6 =
48 -6 =
6+6=
36 -6 =
60 -6 =
126 =
30+-6=
42 -6 =
126 =
60 -6 =

18+ 6=
42+ 6=
36+ 6=
48+ 6 =
30~ 6 =
24+ 6=
54+ 6=
42+ 6=
18+ 6=
30+ 6=
12+6=
54+ 6=

Date:

Calculate each quotient.

24 -6 =
36 -6 =
60 -6 =
6+6=
48 - 6 =
48 ~ 6 =
60 -6 =
12 -6 =
6=-6=
18 -6 =
306 =
42 -6 =
54 -6 =
36 -6 =
24 -6 =
24 -6 =
36 -6 =
306 =
48 -6 =
60 -6 =
54 -6 =
6=+6=
42 -6 =
12+6 =
18 -6 =

60 ~-6 =
306 =
48 -6 =
36 -6 =
6+6=
24 -6 =
12+-6 =
54 -6 =
42 -6 =
18 -6 =
48 - 6 =
36 -6 =
126 =
42 -6 =
30+-6 =
6+6=
18 +6=
54 -6 =
24 -6 =
60 -6 =
60 -6 =
36 -6 =
24 -6 =
18 +6=
12+6=
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Score:

30+-6 =

54+ 6=

48 -6 =

42 -6 =

6+-6=

=[O0 |[\O| Wn

60 -6 =

p—
)

18 -6 =

54 +-6=

36 -6 =

48 + 6 =

24+ 6=

306 =

12 +-6 =

42 + 6 =

48 + 6 =

12 -6 =

42 -6 =

6+-6=

36 -6 =

54+ 6=

24+ 6=

18 -6 =
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60 -6 =

p—
(@)

306 =
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Dividing by 6 (C)

Name:

Date:

12+6=
54+ 6=
42+ 6 =

60-6=

6=-6=
36 -6 =

18~6=

48 + 6 =
30+ 6 =

24-6=

18 -6 =
36 -6 =

60-6=

42+ 6=
54+ 6=
12+ 6=
48 + 6 =
6+6=
24 +6=
30+ 6 =
30+ 6=
60 + 6 =

48+6=

12 -6 =
36 -6 =

Calculate each quotient.

18<6= | 30+6=
24+6= | 18+6=
42+-6= | 48+6=
6-6= | 36+6=
54+ 6= 24+ 6 =
6-6= | 54+6=
12-6= | 60+6=
48 + 6 = 126 =
24+6= |  6+6=
60-6= | 42=6=
18 -6 = 36+ 6 =
54+6= | 60=6=
42+6= | 30+6=
30-6= | 18+6=
36+-6= | 6+6=
24+6= | 54+6=
30-6= | 24+6=
18+6= | 12+6=
54+6= | 42+6=
6-6= | 48+6=
42+6= | 30+6=
48+-6= | 36+6=
36-6= | 18+6=
60-6= | 60=6=
12+-6= | 24+6=

Score:

48 + 6 =

42+ 6 =

6+ 6=

54+ 6=

12 -6 =

60 -6 =

48 + 6 =

18 -6 =

54+ 6=

30+-6=

6+-6=

42 + 6 =

24 -6 =

36 -6 =

12 +-6 =

30+-6=

42+ 6 =

6+-6=

12 -6 =

54+ 6=

36 -6 =

60 -6 =

48 + 6 =

24+ 6=

18 -6 =
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Dividing by 6 (C) Answers

Score:

Date:

Name:
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Calculate each quotient.

18 -6

24 -6

42 -6

66
54 -6

6=-6
12+6

48 -6

24 =6

60 -6

18 -6

54 -6

42 -6

30+-6

36 -6

24 -6

306

18 -6

54 -6

66
42 -6

48 -6

36 -6

60 -6

12 +6

12 -6

54 -6

42 -6

60 -6

O
|-
O

36 -6

18 -6

48 -6

306

24 =6

18 -6

36 -6

60 -6

42 -6

54 -6

12 -6

48 -6

66
24 -6

306

306

60 -6

48 -6

12 +6

36 -6
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Dividing by 6 (D)

Name:

Date:

54+ 6=
12+6=
18+ 6 =

24+-6=|

6=-6=
306 =

48+6= |

42 +-6 =
36 -6 =

60-6=

18 -6 =

48+-6= |

30+ 6 =
54+ 6=
12+ 6=
42+ 6=
60 + 6 =
24 +6=
36+ 6 =
30+ 6=
54+6=

6-6=

42 +6 =
12+6=

Calculate each quotient.

36+6= | 30+6=
60-6= | 12+6=
48+-6= | 60+6=
18<6= | 36+6=
24+ 6 = 18+ 6 =
30+-6= 6+6=
12+6= | 42+6=
18+ 6 = 48 + 6 =
24+6= | 24+6=
54+6= | 54+6=
6+6= 6+6=
36+-6= | 60=6=
42+6= | 30+6=
48+6= | 54+6=
60-6= | 42+6=
24+6= | 18+6=
48+6= | 24+6=
12+-6= | 48+6=
£2+6=  12+6=
30-6= | 36+6=
6-6= | 12+6=
54+6= | 54+6=
36-6= | 48+6=
18-6= | 36+6=
60-6= | 30+6=

Score:

42+ 6 =

60 -6 =

6+ 6=

18 -6 =

24+ 6=

24 -6 =

306 =

42 -6 =

36 -6 =

12+6 =

48 -6 =

54+ 6 =

18 -6 =

60 -6 =

6+-6=

48 ~ 6 =

60 -6 =

12 -6 =

54+ 6=

18 -6 =

42 + 6 =

306 =

36 -6 =

24 -6 =
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Dividing by 6 (D) Answers

Name:

54 +6 =
12+-6=
18 -6 =
24 -6 =
6+6=
306 =
48 =6 =
42 -6 =
36 -6 =
60 -6 =
18 -6 =

48 + 6 =
30+ 6 =
54+ 6=
12+6=
42+ 6 =
60 = 6 =
24+6=
36+ 6 =
30+ 6 =
54+6=
6+6=
42+ 6 =
12+6=

Date:

Calculate each quotient.

36 -6 =
60 =6 =
48 ~ 6 =
18 -6 =
24 -6 =
306 =
12+-6 =
18 -6 =
24 -6 =
54 -6 =
6+6=
36 -6 =
42 -6 =
48 -6 =
60 -6 =
24 -6 =
48 - 6 =
12+-6=
42 -6 =
30+-6 =
6+6=
54 +6 =
36 -6 =
18 +6=
60 -6 =

6 30+6=
10 12+6=
60 - 6 =
36+ 6=
18 +6 =
6+6=
42 -6 =
48 + 6 =
24 -6 =
54+ 6=
6+6=
60 ~ 6 =
30 -6 =
54+ 6=
1 42+ 6=
18 -6 =
24+ 6 =
48 +~ 6 =
12+6=
36 -6 =
12+6=
54+ 6=
48 + 6 =
36 -6 =
10 30+6=

8
3
4
5
2
3
4
9
1
6
7
8
10

4|
8|
2
7
5|
1
9|
6|
3
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Score:

42+ 6 =

~

60 -6 =

p—
o

6+-6=

18 -6 =

24 -6 =

24+ 6 =

306 =

42 = 6 =

36 -6 =

12+6 =

48 + 6 =

54+ 6=

18 -6 =
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60 -6 =

—
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6+-6=

—

48 -6 =

oo

60 -6 =

—
()

12 -6 =

54+ 6=

18 -6 =

42 -6 =

306 =

36 -6 =

24 +6=
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Dividing by 6 (E)

Name:

Date:

24+ 6=
6=6=
30~ 6=

18~6=

60 -6 =
36 -6 =

54 ~6=

48 -6 =
42 -6 =

12-6=

24 -6 =
126 =

42+-6=

6+-6=
54 +-6=
306 =
36 -6 =
18 -6 =
48 -6 =
60 -6 =

54+ 6=

60-6=

48 + 6 =
36+ 6 =

Calculate each quotient.

30-6= | 18+6=
18<6= | 36+6=
42+6= | 54+6=
24+6= | 30+6=
126 = 60 = 6 =
60-6= | 24+6=
12+-6= 6+6=
18+ 6 = 48 + 6 =
6-6= | 12+6=
36+6= | 42=6=
42+6= 6+6=
54+6= | 42=6=
48+-6= | 18+6=
30-6= | 54+6=
24+6= | 36=+6=
6+6=  24+6=
54+6= | 60+6=
18-6= | 48+6=
£2+6=  12+6=
48+-6= | 30+6=
12-6= = 6+6=
60-6= | 60=6=
24+6= | 54+6=
30-6= | 48+6=
36+-6= | 42+6=

Score:

30+-6 =

36 -6 =

18 -6 =

24+ 6=

12 -6 =

306 =

54+-6=

36 -6 =

6=-6=

60 -6 =

24 -6 =

12 +-6 =

48 + 6 =

18 -6 =

42 +-6 =

30+-6=

48 ~ 6 =

18 -6 =

54+ 6=

6+6=

12 -6 =

24+ 6=

42 + 6 =

36 -6 =

60 -6 =
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Dividing by 6 (E) Answers

Name:

24 -6 =
6+6=
30+6 =
18 -6 =
60 -6 =
36 -6 =
54 +6 =
48 - 6 =
42 -6 =
126 =
24 -6 =
126 =
42 -6 =
6+6=
54 -6 =
30+-6=
36 -6 =
18 +6=
48 -6 =
60 -6 =

54 -6 =
60 -6 =
48 -6 =
36 -6 =

Date:

Calculate each quotient.

30+6 =
18 -6 =
42+ 6 =
24 -6 =
12+-6=
60 -6 =
12+-6 =
18 -6 =
6+6=
36 -6 =
42 -6 =
54 -6 =
48 -6 =
30+-6 =
24 -6 =
6+6=
54 -6 =
18+6=
42 -6 =
48 - 6 =
12+-6=
60 -6 =
24 -6 =
30+-6 =
36 -6 =

18 +-6 =
36 -6 =
54 +6 =
30+6 =
60 -6 =
24 -6 =
6+6=
48 -6 =
12+-6 =
42 -6 =
6+6=
42 -6 =
18+-6=
54 -6 =
36 -6 =
24 -6 =
60 -6 =
48 - 6 =
12+-6=
30+-6 =
6+6=
60 -6 =
54 +6 =
48 - 6 =
42 -6 =
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Score:

30+-6 =

36 -6 =

18 -6 =

24 -6 =

12 -6 =

306 =

54+ 6=

36 -6 =

6=-6=

O O D[N [W| OV | W

60 -6 =

—
)

24 -6 =

12 +-6 =

48 -6 =

18 -6 =

42 + 6 =

30+-6=

48 -6 =

18 -6 =

54+-6=

6+-6=

12 -6 =

24+ 6=

42 + 6 =

36 -6 =
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Dividing by 6 (F)

Name:

Date:

24+ 6=
18+6=
30~ 6=

54+-6=

48 + 6 =
42+ 6=

36=-6=

12+6 =

60-6=

48 ~ 6 =

18+6=

30+ 6 =
42+6=
36+ 6 =
24 +6=
54+ 6=
12+ 6=
60 + 6 =
54+6=
42+6=

30-6=

48 + 6 =
12+ 6=

Calculate each quotient.

60-6= | 42+6=
6-6= | 18+6=
24+6= | 6+6=
36+6= | 48+6=
18 -6 = 126 =
48+6= | 36+6=
60-6= | 30+6=
42+6= 60 + 6 =
36+-6= | 24+6=
12-6= | 54+6=
6+6= 60 =~ 6 =
24+6= | 24+6=
30-6= 18+6=
18-6= | 36+6=
54+6= | 30+6=
30-6= | 6+6=
12+6= | 48+6=
6+6=  54+6=
54+6= 12+6=
18+6= | 42+6=
2+6=  24+6=
60-6= | 48=6=
48+-6= | 60+6=
36-6= | 36+6=
24+6= | 12+6=

Score:

18 -6 =

6+ 6=

30+-6 =

54+ 6=

42+ 6 =

6+6=

306 =

24 -6 =

12+6 =

60 -6 =

54+ 6 =

42 + 6 =

36 -6 =

48 + 6 =

18 -6 =

12 +-6 =

30+-6=

42+ 6 =

36 -6 =

6+6=

24+ 6=

60 -6 =

48 + 6 =

18 -6 =

54 +-6=
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Dividing by 6 (F) Answers

Name:

24 =6 =
18 -6 =
30+6 =
54 +6=
48 =6 =
42 -6 =
36 -6 =

12 -6 =
60 -6 =
48 -6 =
18 -6 =

30+ 6 =
42+6=
36+ 6 =
24 +6=
54+6=
12+ 6=
60 + 6 =
54+6=
42+6=
30+ 6 =
48 + 6 =
12+ 6=

Date:

Calculate each quotient.

60 +-6 =
6+6=
24 -6 =
36 -6 =
18 -6 =
48 ~ 6 =
60 -6 =
42 -6 =
36 -6 =
12+-6 =
6+6=
24 -6 =
30+-6 =
18 -6 =
54 -6 =
306 =
12+-6=
6+6=
54 +6 =
18+6=
42+~ 6 =
60 -6 =
48 - 6 =
36 -6 =
24 -6 =

10
1
4
6
3
8
10

1

7
6|
2
1
4|
5|
3
9|
5|
2
1
9|
3
7
10

1

8|
6|
4|

42 -6 =
18 -6 =
6+6=
48 -6 =
12+-6=
36 -6 =
306 =
60 -6 =
24 -6 =
54 -6 =
60 -6 =
24 -6 =
18+-6=
36 -6 =
30+-6 =
6+6=
48 - 6 =
54 -6 =
12+-6=
42 -6 =
24+ 6=
48 - 6 =
60 -6 =
36 -6 =
12+6=
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Score:

18 -6 =

6+-6=

30+-6 =

54+ 6=

42 -6 =

6-6=

306 =

24 -6 =

12+6 =

N[ QO un||—]W

60 -6 =

—
)

54+ 6=

42 +-6 =

36 -6 =

48 = 6 =

18 -6 =

12 +-6 =

30+-6=

42 -6 =

36 -6 =

6+-6=

24+ 6=
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60 -6 =
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48 + 6 =

18 -6 =

54+ 6=
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Dividing by 6 (G)

Name:

Date:

18 -6 =
36 -6 =
60 -6 =

24+-6=|

42+ 6=
48 + 6 =

30-6=

12+6 =
54 -6 =

6-6=

12+6 =
42 -6 =

18~6=

24 -6 =
36 -6 =
48 -6 =
60 -6 =
6+-6=
54 -6 =
30+-6=
12 -6 =
36 -6 =

6-6=

60 -6 =
306 =

Calculate each quotient.

42+6= | 24+6=
24+6= | 36+6=
54+6= | 6+6=
48+-6= | 30+6=
18 -6 = 126 =
12+-6= | 18+6=
54+6= | 54+6=
42+6= 42+6=
18+6= | 48+6=
24+6= |  60+6=
30+ 6 = 18+ 6 =
6+6= 42:6=
48+-6= | 36+6=
60-6= | 54=+6=
36+-6=  12+6=
18+-6= | 48+6=
30-6= | 24+6=
42+6= | 60+6=
24+6= | 30+6=
60-6= | 6=+6=
12+6= | 24+6=
54+6= | 30+6=
48+-6= | 60+6=
6-6= | 18+6=
36+6= | 54+6=

Score:

48 + 6 =

12 -6 =

6+ 6=

42+ 6 =

36 -6 =

306 =

12+6 =

60 -6 =

42 = 6 =

48 + 6 =

36 -6 =

24+ 6=

54+-6=

18 -6 =

18 -6 =

42+ 6 =

24+ 6=

48 -6 =

60 -6 =

54+ 6=

306 =

36 -6 =

12 -6 =
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Dividing by 6 (G) Answers

Name:

18 -6 =
36 -6 =
60 =6 =
24 =6 =
42+ 6 =
48 ~ 6 =
306 =
126 =
54 -6 =
6+6=
126 =
42 -6 =
18 +6=
24 -6 =
36 -6 =
48 - 6 =
60 -6 =
6+6=
54 -6 =
30+-6 =
12+6=
36 -6 =
6+6=
60 -6 =
306 =

Date:

Calculate each quotient.

42 -6 =
24 -6 =
54 +6 =
48 -6 =
18 -6 =
12+-6=
54 +6 =
42 -6 =
18 -6 =
24 -6 =
30-6 =
6+6=
48 -6 =
60 -6 =
36 -6 =
18 +6=
30+-6 =
42+~ 6 =
24 -6 =
60 -6 =
12+-6=
54 +6 =
48 - 6 =
6+6=
36 -6 =

4
9
8

2

7
3
9|
7
3
4|
5|
1
8|
10|
6|
3
5|
7
4|
10|
2
9|
8|
1

6

24 -6 =
36 -6 =
6+6=
30+6 =
12+-6=
18 -6 =
54 +6 =
42 -6 =
48 -6 =
60 -6 =
18 -6 =
42 -6 =
36 -6 =
54 -6 =
12+6 =
48 -6 =
24 -6 =
60 -6 =
306 =
6=6=
24+ 6=
30+6 =
60 -6 =
18 -6 =
54 -6 =

e JEENIRINCIRESSERE SRR, RN e N R N

10

Score:

48 ~ 6 =

12 -6 =

6+-6=

42 -6 =

36 -6 =

306 =

12+6 =

N[ OV || ||| 0O

60 -6 =

—
)

42 = 6 =

48 = 6 =

36 -6 =

24+ 6=

54+6=

18 -6 =

18 -6 =

42 -6 =

24 -6 =

48 + 6 =

PP W| WO H O[O0

60 -6 =

p—
(@)

54+ 6=

306 =

36 -6 =

12 -6 =

N[O || [\O
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Dividing by 6 (H)

Name:

Date:

48 = 6 =
24+ 6=
36+ 6=

6=-6=

18+ 6 =
42+ 6=

54 ~6=

12+6 =
60 =6 =

30-6=

18 -6 =

48+-6= |

42 -6 =
306 =
36 -6 =
12 -6 =
60 -6 =
24 -6 =
54 -6 =
24 -6 =

12-6=

48 + 6 =
54+ 6=

Calculate each quotient.

60-6= | 18+6=
30+6= | 12+6=
36+6= | 48+6=
18<6= | 60+6=
42+6= 54+ 6=
48+6= | 30+6=
18+-6= | 36+6=
60 =~ 6 = 42+6=
54+6= | 24+6=
6-6= | 6+6=
42+6= 24+ 6 =
24+6= | 42+6=
30-6= | 54+6=
12+-6= | 18+6=
36+-6= | 36+6=
12-6= = 6+6=
36+-6= | 12+6=
30-6= | 48+6=
60-6= | 30=6=
6-6= | 60+6=
18+6= | 18+6=
54+6= | 24+6=
2+6= 12+6=
48+6=  48+6=
24+6= | 60+6=

Score:

30+-6 =

42+ 6 =

36 -6 =

6+-6=

54+ 6=

306 =

36 =6 =

42 -6 =

48 = 6 =

12+6 =

60 -6 =

54+-6=

18 -6 =

24 -6 =

60 -6 =

48 ~ 6 =

18 -6 =

30+-6=

42 + 6 =

12 -6 =

54+ 6=

36 -6 =

6+-6=

24 -6 =
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Dividing by 6 (H) Answers

Name:

48 -6 =
24 -6 =
36 -6 =
6+6=
18 -6 =
42 -6 =
54 +6 =
12 -6 =
60 -6 =
306 =
18 -6 =

48 + 6 =
42+ 6 =
30+ 6 =
36+ 6 =
12+6=
60 = 6 =
24+6=
54+6=
24+ 6=

12+6=
48 + 6 =
54+ 6=

Date:

Calculate each quotient.

60 +-6 =
30+6 =
36 -6 =
18 -6 =
42+ 6 =
48 ~ 6 =
18 -6 =
60 -6 =
54 -6 =
6=+6=
42 -6 =
24 -6 =
306 =
126 =
36 -6 =
126 =
36 -6 =
306 =
60 -6 =
6=6=
18 -6 =
54 -6 =
42 -6 =
48 -6 =
24 -6 =

18 +-6 =
12+6=
48 -6 =
60 +-6 =
54 -6 =
306 =
36 -6 =
42 -6 =
24 -6 =
6+6=
24 -6 =
42 -6 =
54 -6 =
18+-6=
36 -6 =
6+6=
12+-6=
48 - 6 =
30+-6=
60 -6 =
18+6=
24 -6 =
12+-6=
48 - 6 =
60 -6 =

[
OOO[\.)UJ

N 0N F[OV W] O[R[N |Un |©O

[
()

W

10

Score:

30+-6 =

42+ 6 =

36 -6 =

6+-6=

54+ 6=

306 =

36 =6 =

42 = 6 =

48 -6 =

12+6 =

DO ||| | |[\O||F]| O[] W

60 -6 =

54+ 6=

18 -6 =

24+ 6=

60 -6 =

48 -6 =

18 -6 =

30+-6=

42 -6 =

12 -6 =

54+ 6=

36 -6 =

6+6=

24 +6=

BP0 N[ | | W00
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Dividing by 6 (I)

Name:

Date:

30+-6 =
48 -6 =
6+-6=

54+-6=

24+ 6 =
18 + 6 =

36=-6=

60 =6 =
12+6 =

42+6= |

12+6 =
42 -6 =

18~6=

306 =
60 -6 =
24 -6 =
36 -6 =
54 -6 =
6+-6=
48 -6 =
36 -6 =
42 -6 =

6-6=

12 -6 =
306 =

Calculate each quotient.

18-6= | 24+6=
48+-6= | 42+6=
60-6= | 12+6=
54+6= | 6+6=
24+ 6 = 30+ 6 =
6-6= | 18+6=
12-6= | 54+6=
18+ 6 = 60 =~ 6 =
54+6= | 48=6=
60-6= | 36=+6=
48 + 6 = 36+ 6 =
30-6= | 48+6=
42+6= | 30+6=
36+-6= | 12+6=
24+6= | 60=+6=
42+6= | 6+6=
60-6= | 24+6=
12+6= | 42+6=
6-6= | 18+6=
54+6= | 54+6=
30-6= 18+6=
18-6= | 48+6=
36-6= | 24+6=
48+6=  12+6=
24+6= | = 6+6=

Score:

60 -6 =

30+-6 =

42+ 6 =

54+ 6=

36 -6 =

48 + 6 =

36 =6 =

24 -6 =

30+-6 =

42 +-6 =

18 -6 =

54+-6=

60 -6 =

12 +-6 =

24+ 6=

36 -6 =

54+ 6=

60 -6 =

6+6=

48 ~ 6 =

30+-6=

12 -6 =

18 -6 =

42 -6 =
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Dividing by 6 (I) Answers

Name:

30+6 =
48 -6 =
6+6=
54 +6 =
24 -6 =
18 -6 =
36 -6 =
60 -6 =
12+-6 =
42 -6 =
126 =
42 -6 =
18 +6=
30+-6=
60 -6 =
24 -6 =
36 -6 =
54 -6 =
6+6=
48 -6 =
36 -6 =
42 -6 =
6+6=
12+6 =
306 =

Date:

Calculate each quotient.

18 +-6 =
48 -6 =
60 -6 =
54 -6 =
24 -6 =
6+6=
12 -6 =
18 -6 =
54 -6 =
60 -6 =
48 -6 =
306 =
42 -6 =
36 -6 =
24 -6 =
42 -6 =
60 -6 =
126 =
6=6=
54 -6 =
30+-6 =
18 -6 =
36 -6 =
48 -6 =
24 -6 =

24+ 6=
42+ 6 =
12+6=
6+6=
30+ 6=
18+ 6 =
54+ 6=
60 = 6 =
48 + 6 =
36+ 6=
36+ 6=
48 + 6 =
30+ 6=
12+6=
60 = 6 =
6+6=
24+6=
42+ 6 =
18+ 6 =
54+6=
18+ 6 =
48 + 6 =
24+6=
12+6=
6+6=

—lNo B ol|lw ollwlals -

Score:

60 -6 =

p—
()

30+-6 =

42 -6 =

54+ 6=

36 -6 =

48 + 6 =

36 =6 =

24 -6 =

30+-6 =

42 -6 =

18 -6 =

54+ 6=

O FR W ||| |H]|[OVC0] OO || W

60 -6 =

12 +-6 =

24 -6 =

36 -6 =

54+-6=

60 -6 =

6+-6=

48 -6 =

30+-6=

12 -6 =

18 -6 =

42 + 6 =

Math-Drills.com




Dividing by 6 (J)

Name:

Date:

30+ 6 =
24+ 6 =
54+6=

36-6=

12+6=
42+ 6=

60-6=

18+ 6 =
48 + 6 =

6-6=

54+ 6 =
18~ 6=

12-6=

60 -6 =
36 -6 =
48 -6 =
42 +-6 =
6+-6=
24 -6 =
30+-6=
306 =
24 -6 =

36-6=

12+6=
48 ~ 6 =

Calculate each quotient.

54+6= | 24+6=
60-6= | 60=6=
18<6= | 6+6=
42+6= | 30+6=
6+6= 18+ 6 =
24+6= | 12+6=
12+6= | 42+6=
42+6= 54+ 6=
18-6= | 36+6=
36+6= | 48=6=
30+ 6= 42+6=
54+6= | 18+6=
6-6= | 60+6=
48+6= | 24+6=
60-6= | 6=+6=
18+6= | 12+6=
36+-6= | 36+6=
12-6= | 30+6=
6+6=  48+6=
42+6= | 54+6=
30-6= | 48+6=
60-6= | 30=6=
48+-6= | 36+6=
24+6= | 54+6=
54+6= | 18+6=

Score:

42+ 6 =

60 -6 =

12 -6 =

6+-6=

24+ 6=

18 -6 =

42 -6 =

30 -6 =

6=-6=

24 -6 =

36 -6 =

60 -6 =

12 +-6 =

54+-6=

48 -6 =

6+-6=

48 ~ 6 =

12 -6 =

24+ 6=

42 + 6 =

36 -6 =

54+ 6=

60 -6 =

18 -6 =

306 =
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Dividing by 6 (J) Answers

Name:

30+6 =
24 -6 =
54 +6 =
36 -6 =
12+-6=
42 -6 =
60 -6 =
18 -6 =
48 ~ 6 =
6+6=
54 -6 =
18 -6 =
126 =
60 -6 =
36 -6 =
48 -6 =
42 -6 =
6=+6=
24 -6 =
306 =
306 =
24 -6 =
36 -6 =
12+-6 =
48 -6 =

Date:

Calculate each quotient.

54 +6=
60 =6 =
18 -6 =
42+ 6=
6+6=
24 -6 =
12+-6 =
42 -6 =
18 -6 =
36 -6 =
30-6 =
54 -6 =
6+6=
48 -6 =
60 -6 =
18 +6=
36 -6 =
12+-6=
6+6=
42 -6 =
30+-6 =
60 -6 =
48 - 6 =
24+ 6 =
54 +6 =

9|
10|

3
7
1
4
2
7
3
6
5
9
1
8
10

1

3
6|
2
1
7
5|
10

—

8|
4
9|

24 -6 =
60 -6 =
6+6=
30+6 =
18 -6 =
12+-6=
42 -6 =
54 -6 =
36 -6 =
48 -6 =
42 -6 =
18 +6=
60 -6 =
24 -6 =
6+6=
12+6 =
36 -6 =
30-6 =
48 - 6 =
54 +6 =
48 - 6 =
30+-6 =
36 -6 =
54 -6 =
18 +6=

4

[
()

W (00 O[O ||| W| U=

p—
)

WO O\ 0|\ O 0| | NN HF|H~

Score:

42+ 6 =

~

60 -6 =

p—
o

12 -6 =

6+-6=

24 -6 =

18 -6 =

42 = 6 =

30 -6 =

6=-6=

24 -6 =

36 -6 =

NP Q|| W | DN

60 -6 =

—
)

12 +-6 =

54+6=

48 + 6 =

6+-6=

48 -6 =

12 -6 =

24 -6 =

42 -6 =

36 -6 =

54+ 6=

O ||| |+~ |CO| |00 [\O||bo

60 -6 =

[
(@)

18 -6 =

306 =
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